
1

USER MANUAL

BOTTLE CAGE ADAPTER TECHNICAL MANUAL Version 1  |  22.08.2022

EN 	 ASSEMBLY INSTRUCTIONS
DE	 MONTAGE-ANLEITUNG
FR	 NOTICE DE MONTAGE
ES	 ES INSTRUCCIONES DE MONTAJE
IT	 ISTRUZIONI DI MONTAGGIO
NL	 MONTAGEHANDLEIDING

BOTTLE CAGE ADAPTER
FLASCHENHALTER-ADAPTER
ADAPTATEUR DE PORTE-BIDON
ADAPTADOR PARA PORTABIDONES
ADATTATORE PER PORTABORRACCIA
FLESSENHOUDER-ADAPTER



2BOTTLE CAGE ADAPTER TECHNICAL MANUAL

BOTTLE CAGE ADAPTER
FLASCHENHALTER-ADAPTER
ADAPTATEUR DE PORTE-BIDON
ADAPTADOR PARA PORTABIDONES
ADATTATORE PER PORTABORRACCIA
FLESSENHOUDER-ADAPTER



3BOTTLE CAGE ADAPTER TECHNICAL MANUAL

EN 

DE  

FR

ES

IT

NL	

This adapter allows you to install bottle cages 
when using dampers with expansion tanks.
Dieser Adapter ermöglicht das Montieren von Flaschenhaltern 
bei Verwendung von Dämpfern mit Ausgleichsbehältern.
Cet adaptateur permet le montage de porte-bidons 
lors de l’utilisation d’amortisseurs avec vases d’expansion
Este adaptador permite el montaje del portabidones 
cuando se utilizan amortiguadores con depósitos de compensación.
Questo adattatore consente il montaggio di portaborracce 
utilizzando ammortizzatori con serbatoi di compensazione.
Deze adapter maakt het monteren van flessenhouders mogelijk 
bij gebruik van dempers met compensatiereservoirs.



4BOTTLE CAGE ADAPTER TECHNICAL MANUAL

EN 
DE
FR
ES
IT
NL	

Install the bottle cage adapter onto the frame using two M5 screws as shown. (max. 5 Nm) 
Montiere den Flaschenhalter-Adapter wie abgebildet mit zwei M5-Schrauben am Rahmen. (max. 5 Nm) 
Montez l’adaptateur de porte-bidon comme indiqué au moyen de deux vis M5 sur le cadre. (max. 5 Nm) 
Monte el adaptador del portabidones en el cuadro con dos tornillos M5, como se muestra. (par máximo 5 Nm) 
Montare l’adattatore per portaborraccia come riprodotto in figura con due viti M5 sul telaio. (max. 5 Nm) 
Monteer de flessenhouder-adapter zoals afgebeeld met twee M5-schroeven op het frame. (Max. 5 Nm) 



5BOTTLE CAGE ADAPTER TECHNICAL MANUAL



6BOTTLE CAGE ADAPTER TECHNICAL MANUAL

EN 
DE  
FR
ES
IT
NL	

Mount the bottle cage onto the adapter with two M5 screws as shown. (max. 5 Nm) 
Montiere den Flaschenhalter wie abgebildet auf dem Adapter mit zwei M5-Schrauben. (max. 5 Nm) 
Montez le porte-bidon comme indiqué à l’aide de deux vis M5 sur l’adaptateur. (max. 5 Nm) 
Monte el portabidones en el adaptador con dos tornillos M5 como se muestra. (par máximo 5 Nm) 
Montare l’adattatore per portaborraccia come raffigurato sull’adattatore con due viti M5. (max. 5 Nm) 
Monteer de flessenhouder-adapter zoals afgebeeld met twee M5-schroeven op het frame. (Max. 5 Nm) 



77BOTTLE CAGE ADAPTER TECHNICAL MANUALBOTTLE CAGE ADAPTER TECHNICAL MANUAL 7BOTTLE CAGE ADAPTER TECHNICAL MANUAL



8BOTTLE CAGE ADAPTER TECHNICAL MANUAL

Legal Base:

Kalkhoff Werke GmbH
Europa-Allee 26
49685 Emstek
Germany

FOCUS BIKES
Rotenwaldstraße 158
70197 Stuttgart
Germany 

Telefon: +49 (0)4471 966-401745
Telefax: +49 (0)4471.966-210
E-Mail: info@focus-bikes.com
www.focus-bikes.com

EN	 Subject to misprints, errors and 
	 technical alterations.

DE	 Druckfehler, Irrtümer und technische 
	 Änderungen vorbehalten.

FR	 Sous réserve d‘erreurs d‘impression, d‘erreurs 
	 et de modifications techniques.

ES	 Sujeto a posibles erratas, errores y 
	 modificaciones técnicas.

IT	 Con riserva di errori, refusi e 
	 modifiche tecniche.

NL	 Onder voorbehoud van drukfouten, 
	 fouten en technische wijzigingen.


